Barem de evaluare chimie

I. (10 puncte) 1. a;   2. a;    3. c;      4. b;    5. b;    6. a;       7. c;       8.b;     9.c;   10.d.

 Pentru fiecare răspuns corect  se acordă 1 punct.

II. (20 puncte)

a) 3 ecuaţii x 2p ……………………………………………   6 puncte

b) ms=40 g soluţie HCl  ………………………………………3 puncte                                    

c) V1=1,12 L SO2
V2=2,24 L CO2
V3=4,48 L SO2
Vgaze=7,84 L………………………………………………6 puncte

            d)    12,5 g CuSO4∙5H2O.................................................................2 puncte

e)      md=8 g…………………………………………………….1 punct

         ms=512,5 g ………………………………………………..1 punct

         c=1,56% …………………………………………………...1 punct

